— A EE AR R ERBEIER D F5 DDES

SH3FE FES
<UNADEB> (B : M)
= Eiri] B%E
SBINA 41,478,000 | =848%F (IERE37%. FRl&E11)
ESE Sl 0
HEUNA 0
SEFE 300 |EEEEFIR
ExeiEE 0
RIFEREHE 0
&t 41,478,300
<ZHOER> (B . F9)
®B G %
=i 800,000 [BE==. ERtHTEHRSR. PTE-T120F
EBETE 20,800,244 |SBBEEE
-4 273,000 [{EEH. SECHR)ERE
EERARE 128,000 |E=HAMm
TIAFER 17,000 |#RITHIRAFERE
THNEE 41,000 [#fiEME
REZEE 60,000 |5+2h, k&
JEFEmE 357,000 [JU>5%
iSRSNGS 60,000 |ENifAR. EECBEASE
BEE 177,000 |E&E;5&E. FAX. BB
HE 300,000
S EEE 36,000 [H1RIvTERE
HmEE 3,056,000 &1~V b
TN =y = | 1,500,000 [PRENEIDKIR (ZFRTZANHAR—DICT) &
ANEE 664,000 [RyhI—5-IR—LAR—RFE
ZAAERAM 240,000 |BBELHFHrR
ENRl A E 2,600,000 |H1RvyvT (EHAGE. 558, REEE <2> . BBEE
VIRNDIT7 300,000
BXEHE 9,987,056 [[cEhV\-EXR. IRIE. B5X-FHIE 4t
IRSRPTSH 12,000
EAT 70,000
&t 41,478,300




